MR FEIT HREREE (20225 11)

K4

FRERS

1. 2IRICEBAR 7 FIVER EOKIELH f - R* — R? BMROAR 2 AT LT 5.
f(el) = 281 — 562, f(eg) = —461 + és.

72720, {el, e IZ R DIEHERKTH 5. £72, RZDHE {u; = 2e1+ey, uy = —e+e,}
BEAZL. ZDEE, ROBWIZEZ K.

(2) ML (e, e0) KIS % f ORBUFI A Z KD E. (BAOATEW) (55

(3) (f(wr) f(uz)) = (f(er) f(er))P THBILERE. (61

(4) R? DEJE {uy, us} IZBIT 2 f ORBUTHI B kD K. (6 1)



2. 2YRITLEBANRY NIVER EOMIEEH f : R — R2 25 5. R?2 ORI {v,,v,} 12
T2 f ORBUTHE KD B & (_21 ;) Thot. COWEEL LI RZORZ ML
T =30, + 20, IZHUT, f(x) % vy, v, D LIRFESGTHRYE. (4 5

—4 0)° 01
fFIWIZE 2 L.
(1) A% AL EZMWEATERE. (65)

3. A:<1 v E:(l0)&?6&%,74U—-Ai»by®i@%%bTW®

(2) A'—2A3 %k K. (8K)

(3) A% Al ExZHAWEATHRYE. (65)



1. A A= (g :g) ZDWNT, KOBN IR &

(1) A DREFELEN ga(z) KD, EAEETRTRD K. (6 50

(2) (1) TROLZEGMHEIZBT BEAERY bILE1DTORD K. (85)

(3) A DRMAATH P ML, A 23R . (6 £0)

(4) n ZHRBLTEHLE, A" O (1,1) oL (2,2) o xRk . (8 £)



2 1 —1
A= 1 2 1 |iZ2VWT, ROMWIZEZ K.

-1 1 2
(1) AOREEHEEZTRTKD, BEAHEIZHT2EAEEFOILEE KD K. (14 55%)

(2) ADHALITH] P 2L, AZHALEL. (650

-1 01 3 1

1 101 3 . X = .
r=1_, %, A= 310 1 DEIERT MV THBHZ L E2rE. (65)

1 1 310



